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Q 1. HINT B! o Bt ShIS B - A g ?

(A) s (B)BCiTrFr
(OGN (D) guf
Q2 FPdddwr?

(A3 Q3 B) €

Q 3. 3 T BT I PifoY
(A) Ty (B) T
(C) gD (D) BXI1&Y

Q 4. 7EfS &1 9E IfY - =g 8
(A) HEd + B (B) HeH + BN
(C) Hel + BN (D) HeX + BN

Q5. YR H I - TTIAN g 2
(A) HHYRT (B) dY>Y
Ok (D) 3Tl HId

Q 6. 3T &1 fadH gRT
(A) 3aF (B) Pl (C) gdF

Q 7. W% UsE $1 YA T &
(A) Ufebet (B) =it (€) IRe

Q 8. Mg forT g3 g3 & fole Sugend U 2heg o1 g1 -
(A) (B) TTIh
(C) Tt (D) ufd

Q 9. T FT SRBIF et 7S &
(A) Tdd (B) g
(C) g (D) BTt

Q 10. ' 3 P < e gerar &1 Jar 31 gFhu -

(A) 3i¥ BT AT I HAT (B) T THS BT IS T
(C) 7T FH P AR AT (D) 3¢ T TgTIdT BT

(D) T

(D) 3F

(D) fAda



Q12

Q13.

Q14.

Q15.

Q 16.

Q17.

Q18.

. What is the time your watch ?
(A) at (B) by
(©) on (D) through

Elon Musk is __ than Mark
(A) rich (B) richest
(©) richer (D) richier
She ____(sing) songs since morning.
(A) shall have singing (B) will singing
(C) will have been singing (D) shall been singing

Change the following sentence from active to passive Do you read a book?
(A) is a book read by you? (B) was a book read by you?
(C) is a book seing read by you? (D) None of these
select the appropriate opposite of word beauty
(A) glamour (B) aesthetics
(C) nobility (D) blemish
Choose the correct synonym from the following
"Ability”
(A) Flexibility (B) Skill
(C) Feature (D) Inefficiency

Choose the correct option which represent the accurate meaning of the following idiom ‘Kick the bucket’
(A) Die (B) Fill the bucket
(C) Pull the bucket (D) None of these

Pick the most appropriate one-word substitute for A person who does not believe in the existence of god
(A) Theist (B) Atheist
(C) Ascetic (D) Agnostic

Q 19. select the mis-spelt word
(A) Niece (B) Surety
(C) Explaination (D) Plaque

20- Which ___ does the minister take to reach the Assembly ?

(A) riot (B) rost
(C) root (D) route



Q21. YRYS P A TOTHA B g ?

(A) BHT IRT (B) TUS TRT
(C) 31 HeT (D) ST FRIS
Q 22. BN GTF fH9 < & quHER § ?
(A) TS (B) SITUTH

(©) PrST (D) AR

Q 23. 2024 ® YR gRI ®F 91 TUrd4 feaq AR T g 2
(A) 73di (B) 74di
(C) 75di (D) 76di

Q 24. YRd ¥ IdAH H ot fbam IR W8 @ ?
(A) 75 (B) 80
© 110 (D) 378 Y PIS T

Q 25. B g1 H o1 HIWR1E SeSHR St &I Jad St Ui

R & {59 0 § o &) ugd fhar T g 2
(A) TEHTHT (B) 3T TR
(C) dffrerrg (D) TSI

Q 26. BW & H M AFRS Afgdr (UCC) T URd & fovd

10 B A fear man g 2
(A) T (B) STRIES
() v uew (D) fagr

Q 27. G-20 2024 &1 TS Bl I ?
(A) SITAH (B) STSIA
(C) HATST (D) HRd

Q 28. gegd &1 §= SR HISHRICEO) A B ?
(A) i AT OISERIEAIRS
(€) Yer s (D) ¥ et

Q 29. Hfd M F adHE ST B S ?
(A) Fics Rig sreeqarferar (B) 3if¥aTy wid
Q) g &8 (D) Terdt Ot

Q 30. BTA g1 H SIS HYI BIPR Bl [hd REBR A
Frd o T g 2

(A) TSt (B) Yo AR
(C) YR Xd (D) U7 faywur

Q 21. Who is the present Chief Minister of Jharkhand?
(A) Hemant Soren (B) Champai Soren
(C) Arjun Munda (D) Babulal Marandi

Q 22. Rishi Sunak is the Prime Minister of which country?
(A) England (B) Japan
(C) Canada (D) Mauritius

Q 23. Which Republic Day is celebrated by India in 2024 ?
(A) 73th (B) 74th
(C) 75th (D) 76th

Q 24. How many Ramsar sites are there in India at present?
(A) 75 (B) 80
(© 110 (D) None of these

Q 25. Recently, in which state of India has an initiative been
taken to install the tallest statue of Dr. Bhimrao Ambedkar
(A) Telangana (B) Andhra Pradesh
(C) Tamil Nadu (D) Punjab

Q 26. Recently Uniform Civil Code (UCC) has been
implemented in which state of India ?

(A) Goa (B) Uttarakhand

(©) Himachal Pradesh (D) Bihar

Q 27. Where will G-20 2024 be organized ?
(A) Japan (B) Brazil
(C) Canada (D) India

Q 28. Who is the Chief Executive Officer (CEO) of YouTube?
(A) Neil Mohan (B) Linda Yaccarino
(C) Sundar Pichai (D) Sam Altman

Q 29. Who is the present Vice Chairman of NITI Aayog?
(A) Mantek Singh Ahluwalia (B) Abhitabh Kant
(C) Suman Very (D) Madhavi Puri Buch

Q 30. Which award has recently been awarded to
Jannayak Karpoori Thakur?
(A) Padma Shri

(C) Bharat Ratna

(B) Ramon Magsaysay
(D) Padma Vibhushan



Q 31. AgT AN HTJeY fhg VA AR ?
(A) SSfie (B) T
(C) frdhe (D) RS

Q 32. Ufed fare HeR™ &1 Tay v AR T 9 &-
(A) HAD (B) Yl
(C) SiiSra (D) |fan

Q 33. IR U RITYAT fea¥ g dRRG B AR S g 2
(A) 25 S (B) 26 SIHa%t
(C) 24 Sat (D) 14 30

Q 34. F&ATH B! B TS A ?
(A) TR U (B) fogR
(C) IRES (D) Flch

Q 35.4Rd 3@ UT B Tl YUH YR e 370 J S & ?
(A) IHAd ISHIUEAERT  (B) SideR Faue JUHUH
(C) Hiat A (D) IWrad Tt

Q 36. GG Y Y BT T gl 3 ?
(A) Torrar (B) T &
(C) T (D) U™

Q 37. 9191 I18q Sidex HIMRTE Se8HR St ®I HRA Id
TRUTRIT & G fovar a7 ?

(A) 1975 (B) 1990

(C) 1992 (D) STH A PIS TET

Q 38. FII A=A UTh gl @ ?
(A) BTG (B) IRES
(C) Aem U (D) d@TTET

Q 39. IR UIa § faentsat ot T fea-t gl 8 2
(A) 4 |7
Q@n (D) 15

Q 40. Fufafad 7 ¥ URd &ty Afgar Rféer o ot 2
(A) gad1 HUart (B) WA g
(OK:IICEICIER ] (D) fosrarae dfsa

Q 31. Rohan Bopanna is related to which sport ?
(A) Badminton (B) Tennis
(C) Cricket (D) Chess

Q 32. Pandit Birju Maharaj is related to which classical dance-
(A) Kathak (B) Kathakali
(C) Odissi (D) Satriya

Q 33. On which date is Uttar Pradesh Foundation Day
celebrated ?

(A) 25 January
(C) 24 January

(B) 26 January
(D) 14 April

Q 34. Yakshagana is the folk dance of
(A) Uttar Pradesh (B) Bihar
(Q) Jharkhand (D) Karnataka

Q 35. Who among the following was the first Indian person
to receive Bharat Ratna ?

(A) Chakraborty Rajagopalachari
(B) Dr. Sarvepalli Radhakrishnan
(D) All of the above

(C) CV.Raman

Q36. Where is the headquarters of the United Nations ?
(A) Geneva (B) The Hage
(©) New York (D) Paris

Q 37. When was Baba Saheb Dr. Bhimrao Ambedkar
honored with Bharat Ratna ?

(A) 1975 (B) 1990

(C) 1992 (D) None of these

Q 38. Where is Kuno National Park ?
(A) Chhattisgarh (B) Jharkhand
(C) Madhya Pradesh (D) Telangana

Q 39. What is the number of players in water polo ?
(A4 (B)7
Q) 11 (D) 15

Q 40. Who among the following was the first woman
teacher of India ?
(A) Sucheta Kripalani
(C) Savitribai Phule

(B) Sarojini Naidu
(D) Vijayalakshmi Pandit



Q41. SWUY H fba Hea g ?
(A) 75 (B) 4
(© 18 (D) 403

Q 42. frd= T ¥ FHH 31 HT Al UTH YU g1 8 IhaT 6 ?
(A) 18 a9 (B) 21 a4
(C) 25 a8 (D) 35 ¥

Q 43. gl T Pt WU Hd o1 7S ot 2
(A) 25 ST 1950 (B) 25 HRat 1950
(C) 10 St 1944 (D) 25 TdsR 1948

Q 44. YR TAYT Pt TR FAfT BT et BT o1 ?
SR EER I CERIENEEEEE T
(C) 3\ T (D) &idt it

Q 45. A SHABRI BT Ieor@ YA & [T T H R 2
(A) HTT 1 (B) YT 3
Q) 54m (D) YT 6

Q 46. 8 & I I TRem URuS BT VTS o= T & ?
(A) Tgad I AR (B) =
©) W (D) HRd

Q 47. HfeuM & fobd arfwda | & & HUBR BT Qe
fparman g 2

(A) 22 (B) 21 ()

©) 23 (D) 20

Q 48. URd ¥ onft a% faxfi surdeTet fha IR AT g1 © ?

(A) T SR (B) A IR
(OICIEKCIN (D) Ush aR ot =7t
Q49. TG 52 HTIEY @ -

(A) IrsguTe & (B) wrgufa &

(C) goIEAT § (D) gu=HAT T

Q 50. R Tfay™ & ga dfaur & ga wd o1 e fat ot ?
(A) 10 (B) 11
0 (D) 78 | BIS el

Q41. How many divisions are there in Uttar Pradesh?
(A) 75 (B) 4
(€ 18 (D) 403

Q 42. A person below how many years of age cannot
be a village head ?
(A) 18 years
(C) 25 years

(B) 21 years
(D) 35 years

Q43. When was the Election Commission established
(A) 25 January 1950 (B) 25 February 1950
(C) 10 January 1944 (D) 25 November 1948

Q 44. Who was the chairman of the drafting committee
of the Indian Constitution ?
(A) Dr. Rajendra Prasad

(C) Amartya Sen

(B) Dr. Bhimrao Ambedkar
(D) Biwi Giri

Q 45. In which part of the Constitution are the
fundamental rights mentioned ?

(A) Part 1 (B) Part 5 (C) Part 3 (D) Part 6

Q 46. Which of the following is not a permanent
member of the Security Council ?

(A) United States (B) China

(C) France (D) India

Q 47. In which article of the Constitution the right to
education is included ?

(A) 22 (B) 21 (A)

Q)23 (D) 20

Q 48. How many times has financial emergency been
imposed in India so far ?

(A) Once (B) Twice

(C) Five times (D) Not even once

Q 49. Article 52 is related to -
(A) Governor
(C) Chief Minister

(B) President
(D) Prime Minister

Q 50. What was the number of fundamental duties in the
original Constitution of India ?

(A) 10 (B) 11 o (D) None of these



Q51 A HH I & UT S & ?

(A) gt (B) T
(SIECK (D) Ia

Q 52. 5y IR AT BT YR THY HGE T SHST T ?
(A) 18.5° qd (B) 81°qd
(C) 82.5°qd (D) 99 A BIS &Y

Q 53. Fofafad #  $H 91 9qg THc! mad &1 ufaffta
AR ?

(A) g, STl =
(C) A 3R B G

(B) U, S¢, TaTg
(D) SHH A BIS 5!

Q 54. Gt B Y - gddt 1 A g g 2
(A) s (B) Tt
(€ Ryura (@ESEREIEEG]

Q 55. TAH A P g TR ?
(A) T (B) @AW
© fgt (D) SHR

Q 56. 399 q B YR B! a9 T T B @E & ?
(A) BIAR (B) i
(C) TS (D) FiBTR

Q57. R A e &) Y9 Uael Ra g ?
(A) BIHHSA (B) T Hed
(C) v Hed (D) dTgIHSd

Q 58. FEH Y YR B! JoQ 78I Riefig AT frg WA it @ 2
(A) SATE (B) BIMRGA
(C) |HR (D) AUt

Q59. YRdH I W1 - [T I H B ?
(A) HET U (B) IRTS
(C) BTg (D) g

Q 60. e T HI TAURTE ?
(A) TH (B) &=
(C) 3frct: T 3R 3ira: et (D) T8 A B3 g

Q 51. Which trees are found in Magron Forest ?
(A) Sundari (B) Sandalwood
(C) Rubber (D) Sisal

Q 52. Which longitude line was linked to Indian time
measurement ?

(A) 18.5° East (B) 81°E

(C) 82.5°E (D) None of these

Q 53. Which of the following group represents cash
crop ?

(A) Wheat ,Barley ,Gram
(C) Both A and B

(B) Cotton ,Jute, Tobacco
(D) None of these

Q 54. Earth's crust is formed by ?
(A) Nife (B) Seema
() Sial (C) None of these

Q 55. Which of the following is a biotic resource ?
(A) Rock (B) Mineral
(©) Soil (D) Animals

Q 56. Which of the following is the deepest gold mine
of India ?

(A) Kolar (B) Jharia

(C) Raniganj (D) Bikaner

Q 57. Which of the following is the thinnest layer of the
atmosphere ?

(A) Troposphere
(C) Mesosphere

(B) Stratosphere
(D) Exosphere

Q 58. India shares its largest land border with which

country ?
(A) Bangladesh (B) Afghanistan
(C) Myanmar (D) Nepal

Q 59. Which state has the maximum number of forests
in India ?

(A) Madhya Pradesh
(C) Chhattisgarh

(B) Jharkhand
(D) Haryana

Q 60. How is the Gulf Stream a water stream ?
(A) Hot (B) Cold
(C) Partly hot and partly cold (D) None of these



Q 61.31%% HTd T 7H & TG BT g T J ST 1T o7 ?
(A) fazmafa (B) Tl
(C) U (D) 31T

Q62. Fufifad A A P Iy H 16 AgoHUC HTIIT & ?

(A) TR b (B) g AA
(€) RamaeH (D) d fues
Q63. @B HTAAT BT ?

(A) T (B) T A
(C) < feditg (D) faigarR

Q 64. UG TP BT T AWH HH @ ?
(A) =TT (B) Tdwifer
(C) AT (D) BegUl

Q 65. 3TRT XER Bt RITYAT fbgq+ ot ot 2
(A) RpeR ard (B) 3feft @M
(C) Sgad et (D) 3HeR

Q 66. BegIdIC BT g 3T -

(A) i stet Td girell & a1y

(B) I I T g & s
(C) T T SBIH]  ofte

(D) R Td HERIUN YTy & st

Q 67. SGANT Higia farg ay 3Ry gar ?
(A) 1920 (B) 1922
(C) 1921 (D) 1923

Q 68. S1ET ITEY Sidex HIFRmE sids®r off &1 uRfAafr feag
frg oy & s ST 2
(A) 6 fedaR
(C) 22 fla¥isR

(B) 14 310d
(D) 15 SHeRT

Q 69. TRDITSTTHT el BT g+ ara T ?

(A) ST (B) ol
(C) 3R (D) g

Q 70 . HifRW Ags A Fofafad & ¥ few Ioifas ot ot
YT 1 of ?

(A) SgSH AT Trel (B) ®IUT

(C) HTTaT (D) JuT

Q 61. By what name was the head of the village known
in the Vedic period ?

(A) Vishpati (B) Gramani

(C) Kulap (D) Raja

Q 62. In which of the following texts 16 Mahajanapadas
are mentioned ?
(A) Anguttara Nikaya
(C) Divyavadana

(B) Buddha Charitra
(D) Suta Pitaka

Q 63. Who was the father of Ashoka ?
(A) Samudragupta (B) Chandragupta Maurya
(C) Chandragupta I (D) Bindusara

Q 64. Who is the author of the famous book Indica ?
(A) Chanakya (B) Patanjali
(C) Megasthenes (D) Kalhan

Q 65. Who founded the city of Agra ?
(A) Sikandar Lodi (B) Ali Khan
(C) Bahlol Lodi (D) Akbar

Q 66. The battle of Haldighati took place -
(A) between Chand Bibi and the Mughals
(B) between Shershah Suri and Humayun
(C) between the Mughals and Afghans

(D) between Akbar and Maharana Pratap

Q 67. In which year did the non-cooperation
movement start ?

(A) 1920 (B) 1922

(C) 1921 (D) 1923

Q 68. On which date is the death anniversary of Baba
Saheb Dr. Bhimrao Ambedkar celebrated ?

(A) 6 December (B) 14 April

(C) 22 December (D) 15 January

Q 69. Where was Vasco di gama from ?
(A) Denmark (B) Portugal
(C) America (D) France

Q70. Kanshiram Saheb had founded which of the following
political party ?

(A) Bahujan Samaj Party (B) Congress

(©) BJP (D) SP



Q71. TM & TS ST IWARS G & -
(A) NaCos (B) NaHCO;
(C) NH4OH (D) NaOH

Q 72. T4l da & FHH GRATY shHih U faftrs uRHTg] 4R

T RT3 B HEA &
(A) THTR® OEIESIEE
(C) gl (D) TS

Q 73. 9 H 3T B Taloihd &
(A) 1 B 2 @ 3 (D) 4

Q74. FEH I B SRIT TRSIPE § ?
(A) T (B) HA
(C) wIo (D) 378 q B8 el

Q 75. af¢ B1 qYT B2 $HRN: T gad & T a7 3fd RRWR

JaDhd Pl U&Rid Hd g1 dl -
(A) B1>B2 (B) B1=B2
(C) B1<B2 (D) 379 T Taft

Q 76. HFE A7 &1 a9 Faff@d gare -

(A) SfHERY (B) o9

(C) 3T IR+ 3T STy (D) 395 T B &l
Q77. SH SHul BT HAESD © -

(A) S Hiex (B) it ATy
(C) fovaiomm (D) S

Q 78. Fufafad 7 ¥ o1 91 3FdieRuiig Sl i &
IR | ?
(A) Teiergw g
(C) IR FHoif

(B) HdT4 Sl
(D) g Soif

Q 79. I BT AT T 5y gufcs F HRUBIAT S ?

(A) TS (B) Te - STIATHISS
(C) wicelc™ (D) HraIfaA

Q 80. T IR T 3 -

(A) A (B) B

QO (D) O

Q 71. The chemical formula of baking soda is -
(A) Na2Co3 (B) NaHCO3
(C) NH40H (D) NaOH

Q 72. Atoms of an element having the same atomic
number but different atomic weights are called

(A) isotonic (B) isotone

(C) isomorphic (D) isotopic

Q 73. The valency of oxygen in water is
(A1 (B) 2 3 (D) 4

Q74.Which of the following is an unsaturated hydrocarbon ?
(A) Ethane (B) Methane
(C) Propane (D) None of these

Q 75. If B1 and B2 represent the magnetism at the
middle and end of a magnet respectively, then -
(A) B1>B2 (B) B1=B2

(C) B1<B2 (D) All of these.

Q 76. The lens of the human eye is -
(A) converging (B) diverging
(C) half converging, half diverging (D) any of these

Q 77. The unit of thermal energy is -
(A) Joule meter (B) Degree Celsius
(C) Kilogram (D) Joule.

Q 78. Which of the following is an example of non-
renewable energy source ?
(A) Petroleum gas

(C) Solar energy

(B) Geothermal energy
(D) Wind energy

Q 79. The red colour of blood is due to which pigment?
(A) Oxygen (B) carbon - Dioxide
(C) Platelets (D) Haemoglobin

Q 80. The donor blood group is -
(A) A (B) B
(e)ex (D)O



Q 81- T 71q B BI SFICAT 1500 B1 3IH 40% T3V,
30% gt 3R AT = ¢ | F=A! R el o1 G o
3R 7-

(A)O (B) 600

(C) 450 (D) 350

Q 82- ot THaTg Ay @1 TS Yoll &1 TS 4 T8
g1 79 3P &d%d g-
(A) 23 g
(C) 30 IR

(B) 43 THI2
(D) 64 Q¥R

Q 83- A9 # 98 Bt ¥ B T= o 8192 H HRT

A R HRTHE Yd 99 & ST 8-
(A) 2 (B) 4
(C) 16 (D) 32

Q 84- I Tl S & TP AU &1 T fAeTS 15 ¢,

@l &7 (3/10) af HUTT8—

(A) 18 (B) 36

(C) 54 (D) 90

Q85.3f¢ 2" - 2"" = 4 dd n" BT HMA &-
(A) 8 (B) 27

(C) 64 (D) 125

Q 86- e fHdlt Imud o TS 3R ASTS | HHT:
10% TUT 20% §¢T <1 9T df ST dabd fpa- ufawrd
¢ ST -

(A) 48% (B) 16%

(C) 32% (D) 64%

Q87-RuM A A ‘o' ga HT Fx g 3R <BOD =
130° @ <BCD &1 4 - A

(A) 90° (B) 115°

(C) 120° D)65°

Q 88- UYH T 3IHT BN HTAIH T -

(A) 11.9 (B) 12.9

()11 (D) 10.9

Q 89- T TN P! IV R 3 J TSI T=AT 3 &1 Wbl 2-
(A)1/6 (B) 2/6

© 172 (D) 3H I s g1
Q 90. 0.0000057 ! 3Mf~Iep TYobd H foram SIAT-
(A) 5.7x108 (B) 5.7x10°®

(C) 57x10° (D) 379 ¥ IS el

Q 81- The population of a village is 1500. There are
40% men, 30% women and the remaining children. The
difference in the number of children and women is-

(A) O (B) 600

(C) 450 (D) 350

Q 82- The length of each side of an equilateral triangle
is 4 cm. Then its area is-
(A) 23 cm?

(C) 30 cm?

(B) 443 cm?
(D) 64 cm?

Q 83- The smallest number in the following by which
when divided by 8192 the quotient becomes pre-
cubed -

(A) 2 (B) 4

Q)16 (D) 32

Q 84- If one third of one fourth of a number is 15, then
the (3/10)th part of is—

(A) 18 (B) 36

(Q) 54 (D) 90

Q 85. If 2"=2"-1 = 4 then the value of n" is —
(A) 8 (B) 27

(C) 64 (D) 125

Q 86- If the length and breadth of a rectangle are
increased by 10% and 20% respectively, then by how
much percent will its area increase -

(A) 48% (B) 16%

(C) 32% (D) 64%

Q 87- In the given figure '0' is the center of the circle

and <BOD = 130° then the value of <BCD is - A
(A) 90° (B) 115°
(C) 120° (D) 65° N

Q 88- The mean of the first ten prime numbers is —
(A)11.9 (B) 12.9
(NN (D) 10.9

Q 89- The probability of getting a number greater than
3 when a dice is thrown is -

(A)1/6 (B) 2/6

©1/2 (D) None of these

Q 90. 0.0000057 will be written in scientific notation as
(A) 5.7x106 (B) 5.7x10°
(C) 57x107° (D) None of these



Q 91. GAEY T JUf HifoT;
CERSIACRIE BRI A R e R

(A) T4 (B) T&ht

(C) Pier] (D) B
Q92.11:132:: :

(A) 10: 100 (B)9:90
() 13:169 (D) 15: 225
Q 93. AZBY : ZAYB :: CXDW :

(A) AYBZ (B) EVFU
(C) BYAZ (D) XCWD
Q 94. ACCOUSTIC: 91 :: RENOUNCE : ?
(A) 95 (B) 99

(©) 105 (D) 109

Q95. PARQUES IR AR STGAGI P HI A S BT
HE Bl QPR I FTIIY 87

NEE! (B) WIS
(C) T (D) aTeT
Q96. g '+ dI3d '+, ' x "BI;S '~ 1~ P

3f+ gur '+ wraRf x|l A
49+2-7+11x 4=7
(A) 20 (B) 21 (C) 19 (D) 16

Q 97. FufeRad TRl B T8t 5 & o -3 &
gl @t 3y H gear 9-
6+5+12x4 -7 =26
(A)+ 3IR x

(C) + 3R -

(B) + 3R —
(D) + 3R x

Q 98. ITH T Sl 3T § ITH! BifeT -
(A) THY @B Fd  (OUS (D) T

Q 99. U Yog X1 Y b1 3R 7l S & & dlq I8
ST AT 3R R 3o ol T | SgeT He by fam @t
3R 87

(A) I (B) gri&mr

Ow (D) ufyH

Q 100 fAfIRId Uy F SeRT BT DIF-91 Tg el R
TR HHIR T I T TS 31&R 47T Bl T H?
X_ZX_YY_ZX_Z

(AXXYY (B) YXZY

(C) YYXY (D) XXXY

Q 91. Complete the identical pairs: Botany: Plants:
Microorganisms: ?

(A) Snake (B) Bird
(C) Germ (D) Insect
Q92. 111132 1t e e,
(A) 10: 100 (B)9:90
(€) 13:169 (D) 15 : 225
Q 93. AZBY : ZAYB :: CXDW :

(A) AYBZ (B) EVFU
(C) BYAZ (D) XCWD
Q 94. ACCOUSTIC : 91 :: RENOUNCE : ?

(A) 95 (B) 99

(Q) 105 (D) 109

Q 95. P and Q are brothers. R and S are sisters. P's son
is S's brother. How is Q related to R?

(A) Uncle (B) Brother

(C) Father (D) Grandfather
QO96.If '+"means’ + ', 'x "means ' -, '—'means '+’
and '+ 'means 'x,then49 +2 -7+ 11 x 4 =7
(A) 20 (B) 21

© 19 (D) 16

Q 97. Which two signs should be interchanged to make
the following equation correct?

6+5+12x4 -7 =26

(A)+ and x
(©) + and -

(B) + and —
(D) + and x

Q 98. Select the one which is different among the following —
(A) Goat (B) Dog (C) Sheep (D) Cow

Q 99. One morning Raju walked towards the sun. After
some time he turned left and then turned to his left.
Which direction is he facing?

(A) North (B) South

(C) East (D) West

Q 100 In the following question, which group of letters
when sequentially placed at the vacant places will
complete the given letter series?

X_ZX_YY_ZX_Z

(A) XXYY (B) YXZY

©YYXY (D) XXXY



